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The Digtance Formula

Wheat is the length of the line segment whose
endpoints are (1,1) and (3,-3)?

A) 4/2 C) 10

B) 2/5 D) 2/2

If the coordinates of A are(3,4) and the coordinates
of B are (-3,-4), then the length of AB is

A) 100 C) 10

B) 20 D) 5

If the endpoints of the diameter of acircle are (3,1)
and (6,5), find the length of the diameter.

4)  Thecenter of acircleisat (1,3). If the circle passes
through the point (4,7), find the length of the radius
of the circle.

5)  Determine whether the triange with vertices
A(-3,3), B(6,6), and C(3,0) isisosceles, equilateral,
or scaene. [Show all work.]
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1) B 2 C
3 5
4 5

5)  Isosceles



